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Incredible Fact: If a series is conditionally convergent. and
you pick your favorite real number Z, then you can
rearrange the terms in the series so that the sum of the series
is L. On the other hand, if a series is absolutely convergent,
then the sum is the same regardless of the order in which the
terms are added.
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The structure in the preceding example§ occurs so
often that the corresponding series have a special
name:

An alternating series is one that can be written in the form
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Alternating Series Test: Suppose @, =0 forallk, {a,} isa

decreasing sequence, and a, — 0 as & — . Then both
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Question: How close is Sy to the full sum?
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Determine whether the series converges absolutely or conditionally.
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Determine whether the series converges absolutely or conditionally.
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Exercises from 11.4: See the video!!

ABS K
ﬂ k Pregs
: —1y J : k
5 Y (=1 —. o 6. Y (~1y— HM,
| K
€ Z(E‘E)' o 8 Iy W@
= i OpRs ¥ (k")?
ik~ k
9 LD T e v 1O {2“1
kY vngd (An)‘w AHiegs
1. 35— V- 12;
Z(—zl* orms —> O 2sin g
13. T (-1 (VEFT-vE). 14, T(- g ;rl
(-1
15. sin i 16. —
x (4!\’) > k(k +1)
k 1 1
17. o 18. (— — —)
LDy 2\~ T
(=1 k+2
19. ; 20. Y (~1 )‘
Zk~2\/§ - + k&

Exercises from 11.4: See the video!!
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Exercises from Chapter 11 Highlights:
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